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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9324941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Printek India has five workstations and two printers. This is most likely a:

Options:
1 « LAN

> % MAN
s % WAN

4 % PAN

Question Number : 1 Question Id : 9324941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e =fBar & g ey 3R & Mer &) o7 e & @ o B & gHe 82
Options:

> % MAN
2 % WAN

4 ® PAN

Question Number : 2 Question Id : 9324942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following kev combinations is used to justify a paragraph in MS Word 20167

Options:
T B gt}
o W Alt+1]

z % Ctrl - Alt+7J

4 % Shift+7J

Question Number : 2 Question Id : 9324942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS WORD 2016 & &0+t T 5g &l & e Fataleg & & B aidme ®=ir @1 39T Sar e g7



Options:

| v Ctrl +
> Alt + J
2 % Cirl + Alt + J

. = Shift + J

Question Number : 3 Question Id : 9324943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How do yvou navigate from one slide to another in a slide show?

Options:
; % By pressing Esc

-  BY clicking the left mouse button
5 # By pressing F12

4 # By pressing Tab

Question Number : 3 Question Id : 9324943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TTEs off & AT TF FT1Es & gl TS W 8 AAd 8?2
Options:

, = Esc gaeRY

, » 5 AH e FeF T F

. » F12 game

4 » Tab &R

Question Number : 4 Question Id : 9324944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 MB is equal to :

Options:

, % the amount of RAM in every computer



> u 1 billion bytes

s « 1024 KB

4 % 1000 bytes

Question Number : 4 Question Id : 9324944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T THST (MB) & FYET 2T gl

Options:

| x TEUE FYH & RAM

, x 1 39 SIEH

. » 1024 fFaT aI5eE

, » 1000 sT=ew

Question Number : 5 Question Id : 9324945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following keys is NOT a toggle key?
Options:

, = CapsLock

> % Num Lock

Scroll Lock

Ly
®

4 « Cirl

Question Number : 5 Question Id : 9324945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
farafafaa o & @ i d@r e F=7r 7@ g2
Options:

, = Caps Lock

- % Num Lock



= % Scroll Lock

R 4 Cirl

Question Number : 6 Question Id : 9324946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Search Engine provides various search approaches, EXCEPT:

Options:
1 « Mouse search

> # Index search

- u Directory search

4 # Keyword search

Question Number : 6 Question Id : 9324946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TS =9 e § ¥ 50 v & o R @ TEhIvr 981 e 87
Options:

| v AEE TS

- :@ﬂﬁ:m

. » AR T
4 ﬁﬂém

Question Number : 7 Question Id : 9324947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first super computer developed in India was:
Options:

1 « Param

-~ w Aryabhatta

- % DBuddha



4 % Ram

Question Number : 7 Question Id : 9324947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T # efad 9ger g F0 e 7 ¥ FiT 7@ 82

Options:

, v TH

Question Number : 8 Question Id : 9324948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O
i i 1 S i
What type of deviceisa 3 = inch floppy drive?
Options:
| % Input

5 % Output
5 % Software

4 Storage

Question Number : 8 Question Id : 9324948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
37 &9 #r v 359 fhE YR & faww @2

Options:

1_&35.3



Question Number : 9 Question Id : 9324949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT related to text formatting?

Options:
; w Line spacing

> % Textspacing
5 » Margin change

4  Searching

Question Number : 9 Question Id : 9324949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
5 # ¥ FiF T TFre wHTeT T TS A6l 87
Options:

| OIS TOTHE
.« T TR
- % HASAT TREd
4 v TR

Question Number : 10 Question Id : 93249410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which keyboard shortcut bolds selected text?

Options:
1 & Ctrl+ B
o R Alt+B

% % File/Format/Bold

4 # Shifi +B

Question Number : 10 Question Id : 93249410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



FIT TT FEE UFHT TIAT TFET T ST T 27
Options:
1 o Chil+ B

. % Alt + B
. « ISA/FTHE/ETE

., = Shift + B

Question Number : 11 Question Id : 93249411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Uhe quickest ard easiest way in MS Word 2016 to locate a particelar word or phrase m a docurment is o use the command:
Options:

, » Replace

> « Find
5 % Lookup

4 % Search

Question Number : 11 Question Id : 93249411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Word 20168 & Tordr exgm2s & B P ereg or aremer &1 937 792 & (e me o 3T
HTHTH 0T FiF BT FHE &1 ITGET Sl 57

Options:

, % = E (Replace)
, » T & (Find)

2 % ok 39 (Lookup)

@ (Search)

4 ®

Question Number : 12 Question Id : 93249412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The keystroke Ctrl + 1 is used to:

Options:



1 % increase font size
> % insert a line break
- » applies bold format to selected text

4 « applies italic format to selected text

Question Number : 12 Question Id : 93249412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FrEEk Cirl + | =1 39T &FE F B & sar &2
Options:

, % WisC & HHR Te= &

% TF TEA §% = & o

2
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Question Number : 13 Question Id : 93249413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used in MS Word to open a new blank document?

Options:

1 % Ctrl+S
> ® Cirl+P
s 8 Chl+O
4« Cirl+N

Question Number : 13 Question Id : 93249413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT WA gEAaS Trelt & T MS Word 3 @i #r efeshe et &1 3931 fFar Sirar 272

Options:

L % Ctl + S




, % Ctrl + P
2% Ctl + O

L v Ctrl + N

Question Number : 14 Question Id : 93249414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS PowerPoint, chart option is found under which tab?

Options:
1 = File

> # Tools
3 ® View

4 « Insert

Question Number : 14 Question Id : 93249414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS PowerPoint &, o< @%ea forg &9 F 3¥ae19 911 A1ar 22
Options:

% igel

SR T

3_%335-\

4.@?"5?‘:'_‘5‘-

Question Number : 15 Question Id : 93249415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel documents are stored as files called:
Options:

1 % Workforce

> « Workbook

= % Worktables



4 # Workgroups

Question Number : 15 Question Id : 93249415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel g&a== & o0 e & & @9 Far e 8, 38 a7 #g9 87

Options:

L L
S ceuccallCeery

LY L A
, & PTIUIE (F=ha)

Question Number : 16 Question Id : 93249416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IP address of a packet is normally analysed by:

Options:
1 ® CPU

> « Router
= % Modem

4 ®» Hub

Question Number : 16 Question Id : 93249416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gehe & IP USH A@AEAd: as sanr faveia frar sar &7

Options:

| % AT YHAUT 3FHEF (CPU)
2 o 3
o ® 3=ﬁ§?:l'

4 & B9



Question Number : 17 Question Id : 93249417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a web crawler?
Options:

| = A computer virus

- % A browser

5 A program that indexes web sites

4 % A hacker community that hacks web sites

Question Number : 17 Question Id : 93249417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IT o F4T g7

Options:

| TP FUX AT

. U FUFHH ST AGASE B FAGE AT &

. U 2T HHET AT A9 WISEl F g AT 8

4,

Question Number : 18 Question Id : 93249418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A floppy disk is organised as:
Options:

1 = ftracks

> #% sectors
= « tracks and sectors

4 # heads and sectors

Question Number : 18 Question Id : 93249418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



woIrr BT #r Fw w7 F cuatiyg R Er 22

Options:

zlﬁm
. » &% AT FFXI

. % 85 3R X

Question Number : 19 Question Id : 93249419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IM stands for °

Options:

, » Internal Messaging

- o Instant Messaging

5 » Instant Marketing

4 % Internet Marks

Question Number : 19 Question Id : 93249419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IM &7 U7 5 7 g7

Options:
, = Internal Messaging

.  Instant Messaging
- » Instant Marketing

4 % Internet Marks

Question Number : 20 Question Id : 93249420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The keyboard keys that have arrows on them are called Keys.

Options:



1 % Function

> % Special purpose

5 % General purpose

4 v Navigation

Question Number : 20 Question Id : 93249420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FrEE P FF | W &S &, 37 H FAT Fgl AT 87

Options:
, = Function keys

5 % Special purpose keys

- » General purpose keys

4  Navigation keys

Question Number : 21 Question Id : 93249421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Smallest unit on the screen that can be turned ON and OFF to make different shades of individual dots that forms
images on the monitor is known as:

Options:
1 « Pixel

> % [Thermal printer

- » voice-over IP (VoIP)

4 ® Web camera

Question Number : 21 Question Id : 93249421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e W T o gfae SifE sl siew F Riee O & a5 & Br g it g B e e
£ =T RieT U7 AR &1 £, & few 7t ® o = £

Options:

1_;}"%




.« FST-3TT P (VoIP)

4 éﬂlm

Question Number : 22 Question Id : 93249422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Excel. to change the cell reference B2:B9 to an absolute row and column reference, you would enter it as:

Options:
1 % B2:BS

-, % B$2:B%9
5« $B$2:SBS9

4 B $B2:SB9

Question Number : 22 Question Id : 93249422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
MS Excel # = 5T B2:BS = % Tefiege 1 #F Fen Y90 & oo § BT, 319 58 59 s =i
Options:

. = B2:B9
o> % B$2Z B$g‘
. v $BS2:5BSY

Question Number : 23 Question Id : 93249423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keys is NOT on the number keypad?

Options:
1 & Ctrl

> % Del

= % Enter



4 ® Num Lock

Question Number : 23 Question Id : 93249423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fay Bids T g @ Fe A o B2
Options:

1 « Citrl

o ® Del
z % Enter

4 % Num Lock

Question Number : 24 Question Id : 93249424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A program, either talk or music, available in digital format for automatic download over the internet is called:

Options:
1 ® Wiki
- % Broadcast

- % Vodcast

4 « Podcast

Question Number : 24 Question Id : 93249424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TR WA, SRTET HUET €9, ST #2t4T 9 EETeg SEaAE o T BieEw vee # s9esw &, 38 =
FET 87

Options:

1 % Wiki
- % DBroadcast
- % Vodcast

4 + Podcast

Question Number : 25 Question Id : 93249425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The printed report by a computer is called:

Options:
, % Soft Copy

> % Zerox

- » Internet Copy

4 « Hard Copy

Question Number : 25 Question Id : 93249425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FoeT TaRT Jied fEe T Fa1 w7 Sar g2
Options:

|« T B

g_éﬁm
L

. BTE

Question Number : 26 Question Id : 93249426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which kev combination can be used to open Insert tab in MS Excel?

Options:
1 % Ctrl+1I

> 8% Cirl+N
o o Alt+N

4 B Alt+T

Question Number : 26 Question Id : 93249426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS Excel # s=a¢ &= e & fow e & @ #ia @ F= §asa & 393eT &5 51 Fear 82

Options:




L % Ctrl + |
-, % Ctrl + N
- v Alt + N

A% At +T

Question Number : 27 Question Id : 93249427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The condition when two or more devices try to write data to a bus simultaneously is called
Options:

, w address decoding

> « bus contention
= # bus collision

, % address multiplexing

Question Number : 27 Question Id : 93249427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o smEaTTNr ST o s A R wm s A 3T AT
T £
Options:

, % T SIS (address decoding)

, v FH Ffafare (bus contention)

5 % 99 Ta@FRT (bus collision)

, « USH Foirafaw (address multiplexing)

Question Number : 28 Question Id : 93249428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which option is used to change the boot device in BIOS setup?
Options:

1 % DBootno



- % Boot code

5  Doot sequence

4 % DBoot

Question Number : 28 Question Id : 93249428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BIOS ¥eaT H 9T Barsy #I sga & v g Rwes & 9@ fhar amar 82
Options:
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G
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G
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G

A

L
S

X
8
G

Question Number : 29 Question Id : 93249429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which transport protocol is used by Telnet?

Options:
i % FTP

> % TFTP
= % SMTP

4 v TCP

Question Number : 29 Question Id : 93249429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e g o IfEea g & 393t AT e 82

Options:

, = FTP

> % TFTP



2 % SMTP

4 « TCP

Question Number : 30 Question Id : 93249430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a device that converts digital data to analog signal and vice versa.

Options:
1 # LAN card

> % Sound card
3 « Modem

4 % Video card

Question Number : 30 Question Id : 93249430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g Fia @ Iy g o Bfees e Fr varenr feaa 3t suF Tala & geodar 27

Options:

, % LAN =g

4 ® aﬁﬁﬁﬂé’

Question Number : 31 Question Id : 93249431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which virus rewrites itself completely at each iteration, increasing the difficulty of detection?

Options:
1 % DBoot sector

-  Metamorphic

- % Parasitic

4 % Memory resident



Question Number : 31 Question Id : 93249431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FF A T TF TR W, W Ao qft e W i w P § S o w1 # osieans
T I A7

Options:

IC Hael

1 ® A
, » TIERd (Metamorphic)
- » TeiEr (Parasitic)

, » HAN FSE= (Memory resident)

Question Number : 32 Question Id : 93249432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
specifies a list of users and groups who have permission on the object.

Options:
1 « Access control list

- % Access control entity

5 » Discretionary access control list

4 % System access control list

Question Number : 32 Question Id : 93249432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
37 STARTRATHT AN FAG! 1 T FIT fAfese e g foreieh I8 Hiestwe T HJATS g
Options:
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Question Number : 33 Question Id : 93249433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which button in the port tab is used to redirect port tabs to another printer?

Options:
, « Addport

> % Link port

5 % New port

4 8 Create port

Question Number : 33 Question Id : 93249433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9Ie &9 H ST I 924, 9 T Fr Ry 377w R W fvwEe = F O suaer R s 22

Options:

1J'Q:=:q:|£cr
> x oI dic

=g 91T

o R

ETE ﬁ;@th%

Question Number : 34 Question Id : 93249434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In LINUX, which process executes run level programs while booting?

Options:
1 init

> % kernel
- % GRUB

4 % MBR

Question Number : 34 Question Id : 93249434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



s (LINUX) & gfée & g i &1 S8 Foad SO & hallead #ar g7

Options:
1 ¢ init

> % Kernel
z # GRUB

. = MBR

Question Number : 35 Question Id : 93249435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is used to save Web Ex advanced record?
Options:

1 % asx

> o arf
3z % arfw

4 % asrf

Question Number : 35 Question Id : 93249435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Web Ex Tsares s & Tgas & T &+l ¥ BEa BiAS 1 39T &Ry Jar g2

Options:
1 #% asx

> « arf
= = arfw

4 % asrf

Question Number : 36 Question Id : 93249436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is used to save Standard Windows bitmap image?
Options:

, % btimg



o o DMp

- % Wwbmp

4 % Wbpm

Question Number : 36 Question Id : 93249436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Standard Windows bitmap image I Hgsl & T Fid & Hga BiAS &1 39097 FHar ST g2
Options:
, = btimg

> v bmp

- % Wbmp

4 % Wbpm

Question Number : 37 Question Id : 93249437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to open Mailings tab?

Options:
% Shift+M

o Alt+ M
z ® Cirl+M

4 Alt+W

Question Number : 37 Question Id : 93249437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afeew 39 &1 @ow & e e gaee a2 g2

Options:

. % Shift + M

5 @ Alt + M



2 % Ctrl + M

4 # At + W

Question Number : 38 Question Id : 93249438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
By using which option can you create an HTML document in Open Office Writer?

Options:
1 « File > Send

- % Insert
3 ® View

4 % File = Reload

Question Number : 38 Question Id : 93249438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fg fereT &7 39T F& 3T Open Office Writer # Teh HTML SEaTaw ST T 27

Options:
1 « File > Send

> % Insert
z % View

4 % File > Reload

Question Number : 39 Question Id : 93249439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Cell C2 contains TRUE; C5 contains FALSE. What will be the output for the function ISLOGICAL (C5) in an
Open Office Calc?

Options:
; % FALSE
5 « TRUE

3&3{}



Question Number : 39 Question Id : 93249439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
#w C2 # ¢ TRUE: C5 # § FALSE| Open Office calc # F&3= ISLOGICAL (C5) &7 #0T 31529 §I7

Options:

. % FALSE
. v TRUE
3z % 0

4 8 1

Question Number : 40 Question Id : 93249440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pinch wheels are used by which type of plotter?

Options:
, w Flatbed plotter

-~ » Electrostatic plotter

5 % Inkjet plotter

4  Micro grip plotter

Question Number : 40 Question Id : 93249440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

frar Eiesr &1 39T BFF YR F ared @R T SEr 22
Options:

. % Polcds Tolled

Y Bl N ht
o % FoFGIECICeh Tl

. & P T
4 v TR AT IR

Question Number : 41 Question Id : 93249441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In YUV colour representation model., U and V represents the:
Options:
1 % Luminance

-  Information regarding the colour

- » DBrightness

4 # Resolution

Question Number : 41 Question Id : 93249441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

YUV T giafaftes #ea # U it vV g & sfafafees &= &7

Options:

FAFAT (Luminance)

1 ® o,

5 T & R F ATHRR
g_éﬁm

, = TFo9 (Resolution)

Question Number : 42 Question Id : 93249442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The octal number system has the base as
Options:

1.¥ 8

| ]

> R

Question Number : 42 Question Id : 93249442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3STH FEAT JOIST &l 3TN zl
Options:



Question Number : 43 Question Id : 93249443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
conferencing engbles participants at two or more sites to have shared workspace on their computsr desktops.

Options:
1 % Audio

> % Video
= « Data

4 % Personal

Question Number : 43 Question Id : 93249443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_ wTentEe gfentiat S a8 o @ § HOw HiEel WIS P SEheT O SReeE o
F1- & WU mERE g £

Options:

1_%3—ﬁﬁ'&T

o> ® Eﬂﬁ?ﬂ
3.-#37-'-1'

4_&3@3?

Question Number : 44 Question Id : 93249444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a type of transmission method used by modem?

Options:
1 # Randomised



o  Asynchronous

- % Time interval

4 % Sequential

Question Number : 44 Question Id : 93249444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o= # @ FiF o g=or B #EF # A $ S 22
Options:

|« TEFEoE [ EAESS

ygeTwoes | TRiwEd

2w

. « THAT IS | TEH Feead

4 % BAESE | e

Question Number : 45 Question Id : 93249445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
translates and executes program at run time line by line.

Options:
1 ¥ Interpreter

- w Compiler
= % Assembler

4 » High level language

Question Number : 45 Question Id : 93249445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
@ 9T 3@, I TEA W NAH F A AR AT Far F

Options:

Lo "/ FER



o w Teholeh/RFITEeR

5 % SIS/ HAFTR

q B 3= FIT?I'JIE-]TNT

Question Number : 46 Question Id : 93249446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Testing a program for any syntax or logical errors is known as:
Options:

, w Editing

» % Decoding

5  Debugging

4, » Rectifying

Question Number : 46 Question Id : 93249446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

mﬁm]mmfmammm#mmmmm#mmp
Options:

1 = Tsfes
> » fEeRifEer
-  TEafeET

\ w YT

Question Number : 47 Question Id : 93249447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What kind of website is the intranet?

Options:

, w Public - everyone with Internet access can see it.

-  Internal - only people within the company can see it.



- » External - people outside the company can see it.

, w Shared - both primary employees and suppliers can see it.

Question Number : 47 Question Id : 93249447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sclac ToFH dig &r J9dEe 87

Options:

| Ufeer - FTAC THAE & W Wl T SW 4@ W &

, v HANE - FIT FIAT F AR AT S @ THA &

« T8T - FIAT F TET F AT W T Toho &

B

ol T - FTUEE FAANT AR IEEAT G S S TR &

Question Number : 48 Question Id : 93249448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
chart can be used for illustrating comparisons among items in MS Excel.

Options:
1 % Bubble

®

Stock

ra
u

3 « Column

4 % Radar

Question Number : 48 Question Id : 93249448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel # a&g3t & &= ot 1 RAfad & & fow ITE T 3TART BOT AT AT 2

Options:
1 % g1



4 ® TSK

Question Number : 49 Question Id : 93249449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
chart displays the relationship between the numeric values in various data series in MS Excel.

Options:
1 # Conic

5 o XX
= % Surface

4 % Pie

Question Number : 49 Question Id : 93249449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e, MS Excel # @i 221 s@enst F geueAs A F 99 T TSI HAT 2

Options:

. Hifaier (Conic)

1

- » Hde (Surface)

4wt|'|é"

Question Number : 50 Question Id : 93249450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Match the following:
1. Line chart i) displays comparisons among individual items
2. Stock chart ii) displays continuous data over time
3. Bar chart iii) shows the relationship of parts to a
whole, but it can contain more than
one data series
4. doughnut chart iv) displays the fluctuation of stock prices
Options:

1 #® I-{.iv}r 2- (111) 3- {.llj- 45 {.1}



o s 1= (i), 2- (i), 3- (iv). 4- ()
- 1= (i), 2- (iv). 3- (. 4- (i)

, w 1= (i), 2- (i), 3+ (0), 4- (iv)

Question Number : 50 Question Id : 93249450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fr=fofaa & Fam

1. e =T i) fafre m@El ¥ Fem ger g g

2. T dAE i) THT F gy RIET e wefa
T g

3. §X = iii) feEar @1 FFOT & A Faw g

ST AMfHeT g Ferah gl
4. AT (doughnut) =m&  iv) TEe HEdl % 3dR-9E1F H G 8l

Options:

| w 1-(0v), 2<(iii), 3-(ii), 4-(i)
L w 1=(ii), 2<(iii), 3- (iv), 4-(i)

o 1=(0i), 2-(iv), 3-(i), 4-(iii)

4 s 1=(0), 2-(if), 3-(i), 4-(iv)

Question Number : 51 Question Id : 93249451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Once multiple accounts have been harvested, hackers can steal for illegal monetary gain.

Options:
1 % common data

-  Drivate or sensitive information
- % general information

4 % public information



Question Number : 51 Question Id : 93249451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e T @ gEEee & F F 9%, §HT SR Al oTd F T T TFHT ¢
Options:

, % THAET 32T

5 Tl a1 Fagsele STewRr

5 % HHATT FATAHNRI

i l s
4 % HIEATASR FATARN

Question Number : 52 Question Id : 93249452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

he term authentication is used to describe the process of a person and making sure they are who they say they are?
Options:
| w traming

o  identifying
5 % phishing

4 w sniffing

Question Number : 52 Question Id : 93249452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THCIRTCT o1 1 394 fgr =ofes &7 #1 wfear =1 v #1 H#iT 97 gt =1 F
Tl il R o e -
Options:

i% aii
o » HIESTCIRISET
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Read the following passage and answer the questions that
follow:

The four-yearly cycle of the modern Olympics has in the past few
decades been disrupted by global warfare, terrorist outrage and
political boycott. Revived in 1896 as a form for peaceful
competition between the finest athletes in the world. the Games
have also reflected national rivalries. Even in ancient Greece,
where the original Olympics took place. there had been feuds
among its states. But once every four years in the month of July.
internal warfare was formally suspended and the athletes and the
interested people moved towards Olympia. Today. the ruins of
Olympia still stand testimony to the glory of the Games. The site
lies in the south of Greece. Archaeological evidence indicates that
Olympia was a place of worship even in prehistoric times. Later.
it became particularly associated with festivities honouring Zeus.
greatest of gods - who started a tradition of games at Olympia.
Whatever the reality behind the legend is. history records that in
776 BC, the warring kings signed a sacred peace pact. To honour
their contract. foot races were held at Olympia. The names of the
winning contestants were written down. and the records of the
Olympics provide the central chronology of Ancient Greek
history.

The Games expanded over the centuries. To the original foot
races were added races on horseback and in chariots. jumping and
throwing events. and several forms of unarmed combat. In the 5th
century BC., a fixed programme was agreed. with separate
contests for men and for boys. The Games had become the
supreme festival in ancient Greece.

Women were not allowed to compete in the main Games. They
had a separate four-yearly festival held in honour of Hera. wife of
Zeus. During these celebrations. also held at Olympia. a foot race
was organised for women. but it was entirely unrelated to the
main festival. The only exception to the ban on women occurred
in the chariot races. where the owner of the horses rather than the
charioteer was considered the winner. Women could and did win
as owners, though they were never allowed to take part
themselves.

When the ceremony was over. the Olympic champions would
walk in a majestic procession. The cheering of their admirers was
tumultuous.



Sub questions

Question Number : 53 Question Id : 93249454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why were the original Olympics held?

Options:
.  Tomark a period of peace

- % To give time for national rivalry

- % Toend the warfare permanently

4 % Tounite the states together

Question Number : 54 Question Id : 93249455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How often were the Greek Olympics held?

Options:
| % Once a year

» w Every four months
5 w Fourtimes a year

4  Once in four years

Question Number : 55 Question Id : 93249456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How did women take part in the
Games in honour of Hera?

Options:
, = AAs spectators

> o AS owners
= # As charioteers

4 % As foot racers

Question Number : 56 Question Id : 93249457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

What were the first games that were held?
Options:

, % Jumping

> % Throwing events
= « Foot races

4 % Unarmed combat

Question Number : 57 Question Id : 93249458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How were the winners honoured?
Options:

, = They were given medals.

> # Their names were announced.
-  They walked in a procession.

4 % TheKings rewarded them.

Question Id : 93249453 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension



freafafea we=oe #1 9 A By ar maf F s=w §

Trow Fo g H, Mgl HiWies w9 9y o, dffes
T%, FaEAEr e i e afreew @ oftE @ b
1886 ¥ ZiAaT & Sl TLRE F dr9 enfan gEeTar =
T o= 79 & G9aad, Wel o T Fiaaaeaar w
wiatatas fF §) o9 9% & 9ee i & a9 g9 e
mmﬁmm,aﬁwmﬂﬂ:nﬁﬂmrj}nm|
T 7 AE 9 A, A F mE # aAiw g2 #r st
¥ & Twfe =7 B omar o sk vt a s=ge A
srwfar & J9 =T Fe f) W HeETaT & armer, et e
Wl &1 ATEAT &1 TEEr &7 §) O we A o giEr 7
Teure ¥ oetens oo #an # B sl st
& A T AT &1 FUTH 9Tl AIE A, O FUS e ¥ W
siw, T dumr — Pt dErr F det oo g
#1 o1, F AEAE SO A SeRal | FE A an St
FuTHr F O S o IEaEETr #, sToew # E & T 778
ST 9F &, TETT =T A ve 9fEw onfy Ay v g
| HR dEEY T EEAE S & T, s #
gtE wmiTaa &1 T fEET 9eanET & e S A
AreTr & T&E & 9 @k S0 & FaT Fowd =
PO 95T ST I

w7 e wfiEt &= g A Y5 St & g el
T # g3, Fear HT e siEaiEaT v 39w S &
oET TR IF o o 57 erandr fmm of A, gwt s
AT & o Heer 3w st & oy v e
FrEFR 97 TEAy g aEhe A # g@|, wEter st am
T A

HeT wer & #gant & efardr s &1 ety @ dn
Ferfrioerfm S oo ® s Rrysr O = £
v gyt e omar ) 3 'EET & She
et | wfgenat & Ao v 357 gty o 3maEe i I
oft, Aftee oF HEr T ¥ O o i o)
Aot 9T GiAey F7 TRAW H99E 19 EE H g, S0
F T HE F mfae &7 =ar m@En s an) afEer
e & w9 # T m=ar of sty afees & w9 & S o
BTl 3eg FE4 WET @ &1 AT F8 U7

| WHANIE WHSH & ST 9T, HEie = e e A
=Ted | FAS GNHS it FaETT I g o




Sub questions

Question Number : 53 Question Id : 93249454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 3elfs &0 JEfag e v 97
Options:

| v uifg 3Efer & REa & & e

, « TSI Jfdedeiadr & forw aag &= & fow

IS & T § ¥ FATCT HA & o0

3 ®
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Question Number : 54 Question Id : 93249455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T s i e s smafaa
B T

Options:

1 % I¥ J U X

. &I AR A

4 v IR 3§ H TF R

Question Number : 55 Question Id : 93249456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e & BFAET H Afgansi & Tar H 47
o forar?

Options:

| w G T H

. v TR & wT F
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Question Number : 56 Question Id : 93249457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HATag BT 710 9ger O T g 97
Options:
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Question Number : 57 Question Id : 93249458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

faeanst =1 gEatag 9 & T

Options:
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4. *
OUANTITATIVE AFTITULE
Section Id : 9324943
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 9324943
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 93249459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should come in place of the question mark (?) in the following question?

460 x 15-5x%x20=7
Options:
1 ® 92000

> % 4600
s % 137800

4 « 6800

Question Number : 58 Question Id : 93249459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T we # 9o REd (?) & TUE 9 FAT HTAT TAfeT?
460 x 15 -5 x 20=7
Options:

. = 92000
. % 4600
- % 137800

. « 6800

Question Number : 59 Question Id : 93249460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The length of & rectangle 15 three=A0h of the stde of & square. The radius of a circle is equal to the side of the square. The
circumference of the circle is 132 om, What is the area of the rectangle if the breadth of the rectangle is 8 cm?

Options:

| % 112.4 5q cm

% 104.2 sg cm

2

5 100.8 sg cm



4 % Cannot be determined

Question Number : 59 Question Id : 93249460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T HOE S WA U =0 & 81 & 358 BEEr §) goo & T @9 &7 61 % s0E 5| god o T
132 TAT & 7 7@ i 9= 8 WA ¥ O 3O =7 89 Saar g

Options:

. % 112.4 T3 @

5 = 104.2 =7 @
- v 100.8 Z=7 @

. w Toreor J@r foRam ST weRar

Question Number : 60 Question Id : 93249461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of question mark (?) in the following number series?

17 19 42 132 2?2690
Options:
1 % 532

Question Number : 60 Question Id : 93249461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e e gEen 7 9 BEd (?) & TUF W FT AT AeT?

17 19 42 132 ? 2690
Options:

, % 532

. u 544



. = 528

. v~ 536

Question Number : 61 Question Id : 93249462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of V28 — 104/3 ,—3 18:

Options:
1 ® 0

T
®
| ]

Question Number : 61 Question Id : 93249462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
5
V28— 10V3——— & A fFaer 87
A7+ 443
Options:

13.30

Question Number : 62 Question Id : 93249463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A shopkeeper gives two stuccessive discounts on an article marked at T 900, The first discount is 10% and the seconud
discount is x%. If a customer pays ¥ 688.5 for the atticle, then the value of x is:

Options:
1 ® 10
o B 12

3_\;.?15

g4 W 20



Question Number : 62 Question Id : 93249463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T gFmER T 900 #r ey s W I 3w o 4 §) TEar o 10% § 3 gEd oe «% §1 3R
FE Wew IF a6 & o0 T B85 W I 4 B O x AR a4 87

Options:

1 ® 10
o W 12
3¢ 15

4 #® 20

Question Number : 63 Question Id : 93249464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratic between the parallel sides of a feld, which 1s in the shape of a trapezium. 15 1 ;3 whereas the ratio belween non

15¥15

parallel sides is 2 3. The ratio between the bigger parallel and non-paraliel sides is 2 : 1, If the height of the field i
m. then its area (in m-) is:

-
L

Options:

1 % 300V5
> » 300V15
5 % 150V5
4 v 600v15

Question Number : 63 Question Id : 93249464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF FATETH & AR A WE F G A F A Fw AT 103 & FEt T FEEE S[=THT
F @ A 20 3§ FE WAL T A WA Mt & @ W 3R 2 0 1 8 IfE A

FrFam 22 ¥ S osEew dEww (3 A #) feeer B

2

Options:

. % 3005

5 = 300v15



2 % 150v/5

4 v 600V15
GEMEREAL MEMTAL ABILITY AND REASONING
Section Id : 9324944
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section | d: 9324944
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 93249465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Lf a1l the letters frotn A to £ were Wrillshas A C F G upto Y, ie. dropping each alternate letter, leaving blank space and
then all the blanks were filled in with the remaming lefiers inreverse ordar, ie, AZCX E V. ... ending with B, answer
the following question:

Which lefter is to the right of the sixteenth letter from the left comer?

Options:
1 ® M

Question Number : 64 Question Id : 93249465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 65 Question Id : 93249466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Letters of a word have been jumbled up and numbered, Choose the option which gives the cormect order of the letters as
indicated bv the numbers to form the word

FREITFL

L 23453
Options:

, & B 1,245

T RN

x®
Ln

w
o
"
fin

Question Number : 65 Question Id : 93249466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF eg F HET F HeOaTeyA AT § AR I T 6 B o E) 3w Reew @ 9, & a=
T AAT FRA T TEATHT ZaT 3T HaRT & Wi FH YER A

TRIFU
12345
Options:

3, 1,2 405
i 2 B B
s% 43,2 4L

4 5.' 3! 21 1:4

Question Number : 66 Question Id : 93249467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Jumbled letters of a meanngful word are given below. Rearrange these letters and select from the given alternatives the
word which 15 almost oppasite inmeaning 1o the reamanged word.

QHNASYVUI
Options:
1 « Surrender

> % Debase

5 % Destroy

4 % Ruin

Question Number : 66 Question Id : 93249467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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¥ =7 o g Swe #Y g ematiud e ¥ Y F e

CHNASVUI
Options:

1 « Surrender
- # Debase

- % Destroy

4 % Ruin

Question Number : 67 Question Id : 93249468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following pair. find two words related to the words already given one word for each.

I:Sword: : Thread : 1T

. (1)Dagger (2)Knife (3) Warrior (4) Kill
II. (A)Needle (B)Tailor (C)Rope (D) Stitch

Options:
1. ¢ 2C

o> R 41D

=z B 1A



4 ® 3B

Question Number : 67 Question Id : 93249468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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L) wER (2) I (3) IR (4) A

I (&) m¥ (B)z=t (C) = (D) Feme

Options:

1 ¥ 2C
> R 4D
o W 1A

g 3B

Question Number : 68 Question Id : 93249469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There iz & certain relationship betwesn the frst two words. Select the comect option that has the same relationship with the
third word.

FILM : ADGEL :: MILEK : 2

Options:

1 ® ADGF

> % HDGE
- v HDGF

4 % HEGF

Question Number : 68 Question Id : 93249469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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FILM : ADGH :; MILK ; ?
Options:

% ADGF



. » HDGE
- v HDGF

. » HEGF

Question Number : 69 Question Id : 93249470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Four words have been given, out of whach thres are alike in sorne manmer, while the fourth one is different. Choose out the
add one.

Options:
1 % Assassinate

- # Kill
-  Kidnap

4 % Stab

Question Number : 69 Question Id : 93249470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

O 9 v v §, oed ¥ oW e 7 Gl 3l w ove 39§, = otwr s ) FBew e mae &)
Options:

| % el AT

o % HREA

5 o IO
AT HAlehal

4 % 2

GEMERAL AWAREMNESS

Section Id : 9324945
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 9324945
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 93249471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which music director had the distinction of being the first Asian to compose a symphosnyy for Boval Philharmonic
Orchestra of London?

Options:

1 % Nadeem Sharavam

- % Anand Milind
= # Shiv Hari

4  Noneof given options

Question Number : 70 Question Id : 93249471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% TG UAEH
. » ¥=g fafeE
5w T ER
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Question Number : 71 Question Id : 93249472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per Koppen's elassification of climnate. which of the Tollowmg 1s the suilable descnption for north-gast India including
Worth Bengal?

Options:
. w Tropical monsoon rainforest (Amw)

- % Sub-tropical monsoon rainforest (Aw)

-  Humid sub-tropical with dry wind (Cwg)



, # Tropical wet and dry climate (Moho Savannah, Aw)

Question Number : 71 Question Id : 93249472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

i IUHTHT ATAGH TU-IA (Amw)

., SI-FURTST AES IW-ad (Aw)

2

. o T B F WY A IT-FURRRET (Cwg)

T ISUTRica I 3Te 3T ov& Se@rg (Moho Savannah, Aw)

Question Number : 72 Question Id : 93249473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who from the following leaders was NOT assassinated?

Options:
Mahatma Gandhi

®

i,

- % Liagat Ali Khan

% « Muhammad Ali Jinnah

5

Lord Mountbatten

o
®

Question Number : 72 Question Id : 93249473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
forafef@a & & forg aar # gear =gt g5 o4
Options:

| = FETCHT Tmedy
> w TorgmeRg 3T @

. o TeFe e S



4 % WS ABcHH

Question Number : 73 Question Id : 93249474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the chief characteristic of ‘mixed farming’?

Options:

, % Cultivation of both cash crops and food crops

- % Cultivation of two or more crops in the same field

-  Rearing of animals and cultivation of crops together

4 » Noneof given options

Question Number : 73 Question Id : 93249474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 74 Question Id : 93249475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The article of Indian Constitution related to the abolition of untouchability is:

Options:
1 % Article 15
> # Article 16

=  Article 17

4 % Article 18



Question Number : 74 Question Id : 93249475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%34?1%7{15
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Question Number : 75 Question Id : 93249476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following structures or cells is NOT present in connective tissues?

Options:
, # Chondrocytes

~ % Lymphocytes
5 % Collagen fibre

4 « AXon

Question Number : 75 Question Id : 93249476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % TIEEESHE (Chondrocytes)
, » TOFPHEEEH (Lymphocytes)

o w et HgeX (Collagen fibre)

., v THEEE (Axon)
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Question Number : 76 Question Id : 93249477 Question Type: TYPING TEST Display Question Number : Yes

Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woImens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 93249478 Question Type: TYPING TEST Display Question Number : Yes

People often wonder how 1o be positive in their thoughts and actions, especially whern they are unhappy or
wher life is harsh to thern. There are numbers of people around, who find it extremely difficult to be positive,
everl wihen things go well. Though it 15 50 sirmple, most people do ot koo how to e positive. Researchers say
that people prefer to stay negative, as it has transformed into a habit. Negativity is no more an ermotion. It has
rather become a more farniliar state of mind. However, it should be noted that one cannot continue living his
life with negative thoughts. ¥ou may not realize, but such thoughts do have an adwverse effect on your health,
career and mindset. So, you should learn how to be positive. On account of some training and perseverance,
you will definitely develop the skill and observe a drastic change your attitude and behavior. Always remernber
that if you keep thinking the same thoughts, day and night, they might surely enter your world, becorning your
reality. This means that if you want your life to be as vou warnt it to be, you have to be careful of what vou
thinlk. You need to start thinking more positively. Changing your attitude and expectations can be a great start
to change your life accordingly. Right from the simplest action to the greatest achievernent, everything starts
from within. We cannot always control our external circurnstances, but we can control our inner world of
thoughts. If vou are unhappy and not satisfied with your life, try to change the way you feel and think. This is
the only way you can lead your life towards more motivation, happiness, and improved conditions. Learning to
be more positive in your thoughts and actions will help vou see everything from a wider perspective, as well as
it would free your mind frorm limitations. You only need some guidelines on how to start being more positive.
Reading is great. Understanding is great. However, to gain results you need to take action. Therefore, here are
sorme suggestions that you can follow. Substitute your negative thoughts with positive ones. Whenever you
catch yourself thinking negatively, fill yvour mind with the opposite thoughts, of happiness and success. Learn
to feel as if you are already living the life you want. This way, you will certainly become happier, and attract
new opportunities in life. Look for the good in every situation, as there is always something good, or at least
something useful to learn, evern in difficult or unpleasant sitnations. Read success stories of motivational
personalities. Repeat positive affirmations about what you want, many a tirmne during the day. These activities
will certainly help wou
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